|6-2a8-13
=7 Tr.',

R4 9
@ -1=a*3
® 22
@ (x+)(x-4)

gx)= x=  hO= X -2

3(!\(10\)’ 3( 1-2)
v (x-2) = (D (x-2)
¥ -4x+
hCh(H))
h( h('53

J
h(0) = 0-2:-2

d(x) = 2x-|
d(d(c\f&\\\

a4 () 30D-]

Jd '11.-'5-4
a( a4 ) "
\

3(q%-4) -
o x-ra-|
Ax-13

9(1‘): lo;§

(o[

sTo)) ek
J

|oex
;)( 100X
= 10- (100x)

Jooo Y



Givg t ke domein

6+2X
-F(x)"'fxt|o
R except X £ 10
£60= N XY
x+4 =0O
-y -y
@ X =+
£(x) = By -9
LN
°°

£V = (x-?b(xa-gg
R except XF3, =

Put in i~tervel Auvtetion
X =3 (%,OO)

X=19 (—oo,‘ﬂ
~<xs=lo (o n




N LA
V h(
| o
ST, S R 17 71
1
4
4
\§ 7
&
7
o




jo-27-1%
"f“ T'.’,

Ra 4
OEICES]
=2
® =3
@ (%4-5)()("1) =0

x:“‘s 'Y "l

F6=5x% 500= Xr !

£ 3
(-5
§-4:=45

£ee) = F(5)
SYC
5 54%5¢°
45 2as x
s xY

g(n) = An+ D

9(9(@3’ 3@ QMSD

'a‘%gv\-tg) T 5

Yrtlot 5

@mlﬂ

( l-ln-ﬂf)
3 a9 45
en+30+5
4 ~+35




Thatervsl Mo cation

® n=3 [2.°°)
@ |=x<lo (1, 10)
@ X<=- C_ Qo/'tb
Give Dowmec:n 1 &he -Pollo-vlag

R+x
FION
D N except X+

@Dfw > ¥ =25

Dom*.‘q‘, R
©) -C“Cx%« w—10
x-10=0
__He 4ie
g X=I0
Pt

1oy
JA

Domain:-23< x <3
Renge 1 12ygy



=]

: /N

5 N

A \\

a N

1I —t

=] T e i} .

DOM(..O\.. (?\
R('\f\)c . ﬂ I‘

X =l
y<6

] =% m o g

2] L) Y ] 0

Dommec~ ",

RAAQQ'. @\



	Page 1: Oct 28-10:31 AM
	Page 2: Oct 28-10:56 AM
	Page 3: Oct 28-11:09 AM
	Page 4: Oct 28-11:19 AM
	Page 5: Oct 28-11:43 AM
	Page 6: Oct 28-12:28 PM

